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o P W F A [ 59 JoT-9H § GRT g 24 79 597 38 &)

Please make sure that the printed pages in this question paper are 24 in number

and it contains 38 questions.

o U9T-UF ¥ e & @ N [ T8 FS TR T G F GH TAT-YikaH & FEI-IT G
ferg
The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o FYI FIT P TV VG @ FXT @ Yew, F97 F HHH ST [orad

Before beginning to answer a question, its Serial Number must be written.
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o FUT-YitTHE & = @l §,/9 7 881
Don’t leave blank page/pages in your answer-book.

o FTT-YRTHE B SIRFT HF o dMe Tel A o SEvIRagEr & i@ st frar Fav T
FIC]
Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

o TR ST AT To JeT-UH T Haed [@ T To & SARFT FIT-YH G o FE A T
frd sit dmfoqs g9t @ Rl 9¥ el Fre @7 9T T g
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.

o YT F97 % FUT 37 @ {4 & GhlEq FY @ [ FeT-0F {7 T 78 8, g # I 59
T 7 g o qrar w&hHe T8 RAr aam
Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 73T -
General Instructions :
() STTT-97 75 GC:% G T, § K& &
There are 5 Sections : A, B, C, D and E in this question paper.

(i) @E-FF1T20 T 1-1 5% % 597 8/ 1 & 18 7% Jglawcsid (MCQs), &
I gy, Red &7 qid, @) oraed Jo7 o7 597 q& 19 v 20 VBT
STIRT 797 &

Section-A consists of 1 mark questions from 1 to 20. 1 to 18 are Multiple
Choice Questions (MCQs), one word answer, fill in the blank, True/False and

question numbers 19 and 20 are Assertion-Reason based questions.
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(i) @€ -& 721 725 TF T TG ITTNT (VSA) FHT % 2-2 % % F97 &

Section - B consists of Very Short Answer (VSA) type questions of 2 marks
each from 21 to 28.

(iv) G- 7T 726731 T qF AT (SA) THT % 3-3 3H B J97 &

Section - C consists of Short Answer (SA) type questions of 3 marks each
from 26 to 31.

(v) @8- g 532735 7% 7 3707 (LA) FFX % 5-5 H & 797 &

Section — D consists of Long Answer (LA) type questions of 5 marks each
Jrom 32 to 35.

(Vi) GUE - & & g7 T&qr 36 @ 38 TF FHIT TIIT STEIRT 4-4 FHH P FIT 81 9%
FHT F S7aRF AT 2-2 7H & g7 F 397 a7 8

Question Numbers 36 to 38 in Section — E are case study based questions
of 4 marks each. Internal choice is given in each case study question of 2

marks each.

(vii) T4 F9T SHaT & el @ - TF2 TN G G- TH2 797 5 @8- %
2 971 T T @8 - & & 3 g F faRF [FeT F FEET [Rar 7 &1 395 @
ST G F97 F G 81

All questions are compulsory. However, provision of internal choice has
been made in 2 questions of Section-B, 2 questions of Section-C, 2
questions of Section-D, 3 questions of Section-E. You have to choose one

question of them.
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qUE - %
SECTION — A
1. 10,7, 4, ....... P HF-TT TG 62 7 ? 1
(A) 15at (B) 25df
(C) 27at (D) 30at
Which term of A. P. 10, 7, 4, ....... is -62 ?
(A) 15th (B) 25th
(C) 27th (D) 30th
2. k & A9 s [ e efieer o - 2ke+6=0 3 qd IO ¢ 1
(A) 6 (B) -6
C€) 8 (D) -8

Value of k for which the quadratic equation kx? —2kx+6=0 has equal roots is :

(A) 6 B) -6
€ 8 D) -8
3. fagell (5,7 MR 1L,y F I AT 1
(3 22 B) 42
© 52 D) 62
The distance between the points (-5, 7) and (-1, 3) is :
@) 22 B 42
© 52 D) 62
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4. Sl ABC R DEF ¥, /B=/E, /C=/F3R AB=DE g, T & B9 % : 1
(A) TEEY AT garEy (B) TaNHH Wfthd 9EY &l
(C) TWEY Afh TarTEw &t (D) ¥ FarEd X J g9Eq

In triangles ABC and DEF, /B = ZE, Z/C = ZF and AB = DE, then the two
triangles are :
(A) Similar as well as congruent (B) Congruent but not similar

(C) Similar but not congruent (D) Neither congruent nor similar

5. I ©F g P& O &= a el g9 W PA, PB @St Y@T WER 80° & &1 W A &,

@ LPOA SR & : ]
(A) S0° (B) 60°
(C) 70° (D) 80°

If tangents PA and PB from a point P to a circle with centre O are inclined to

each other at angle 80°, then £ZPOA is equal to :
(A) 50° (B) 60°

(C) 70° (D) 80°

6. 5 q Brou a U g9 & g P W Wl WM PO % O @ M drcll T W@l § g 0 W

=9 T et @ B 00 = 12 31, PO %1 wsE B : 1
(A) 1294 (B) 13 qHI
(C) 8&H (D) /119 &
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A tangent PQ at a point P of a circle of radius 5 cm meets a line through the

centre O at a point Q so that OQ = 12 cm, length PQis :

(A) 12 cm (B) 13 cm
(C) 8 cm (D) 4119 cm
7. sin6000330+sinSOcos6OEb'[WFTEP?IT%iI> 1
a) -1 B) 1
€ O (D) 2

What is the value of sin 60 cos 30 + sin 30 cos 60 ?

A -1 (B) 1
€ O (D) 2
S.QﬁsinA=%,FﬁtanA35rrlﬁalle%? 1
3 4
(A) 77 (B) Ned
3 4
(C) = (D) 5

Ifsin A= %, then what is the value of tan A ?

3 4
W 7 ® 7
3 4
© 3 D) <
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9. 9sec® A-9tan? A T g 1
(A) 1 (B) 9
(C) 8 (D) O

9sec® A—9tan? A is equal to :

(A) 1 B) 9
) 8 D) 0
10. BFT R 990 & 96 BeU@vs H %d Nrad T P g ¢ 1
B) L xonr B) L xnR2
180 180
€ L xonr D) L xonr?
360 720

Area of a sector of angle P (in degree) of a circle with radius Ris :

(A) i><27t].’? (B) anRQ

180 180
(@) ixQnR (D) i><21t].‘22

360 720

11. 6 G B 9 U% 99 B BoUEvE @ S, SEE BT 60° § 1
(A) 132 g (B) 264 a9
7 7

(C) 132 P (D) % i
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The area of a sector of a circle with radius 6 cm, if angle of the sector is 60°, is :

132 264

(A) — cm? B) — cm?
(C) 132 cm? (D) 674 cm?
12. Bewr 2.1 9 A O & N B O A © 1
(A) 88.7 A1 (B) 194.5 qQHi?
(C) 55.44 91 (D) 39.04 {42

Surface area of a metallic sphere having radius 2.1 cm is :

(A) 88.7 cm? (B) 194.5 cm?
(C) 55.44 cm? (D) 39.04 cm?
13. 3R el ofiws! & ek AR 9gad HA: 11 3R 17 &, T 0 q1eA © 1
A 7 (B) 8
(C) 9 (D) 10

If the Median and the Mode of a data are 11 and 17 respectively, then its Mean
is :

Ay 7 B) 8
(C) 9 (D) 10
14. ffared e & e Jrems o o) agasd a & el dmel & A @ 1
T AR 0-5 5-10 10-15 15-20 20-25
EIECIIG]| 10 15 12 20 9
(A) 15 (B) 25
(C) 30 (D) 35

1103/(Set : B)



(9) 1103/(Set : B)

For the following distribution, the sum of lower limits of the median class and
modal class is :

Class Interval 0-5 5-10 10-15 15-20 20-25
Frequency 10 15 12 20 9
(A) 15 B) 25
(C) 30 (D) 35
15. Uh Ud P Th g% Bl Al 21 [I90 G < H B MiAehdr & ¢ 1
1 1
A) — B =
(A) (B) 5
1 1
Cc) = D) =
(®) ) (D) S

A die is thrown once. The probability of getting an odd number is :

1 1
A = (B) 5
1 1
(G- (D) =
16. 6, 72 @ 120 % L.C.M. ® : 1
(A) 120 (B) 6
(C) 360 (D) 240
L.C. M. of 6, 72 and 120 is :
(A) 120 (B) 6
(C) 360 (D) 240
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17. F=fafad & & dH-a1 g aieg ¢ 7 1
@A) 7+2 B) 5-+3
€ 2++9 D) 5-+2
Which of the following is a rational number ?
A) 7+42 B) 5-+3
(C) 2+ 49 D) 5-+2
18. % & agya Fores Il & IR 91 oG HA 4 A1 E, 8 1
A) x%-4x-1 (B) x°-4x+1
(C) x%+4x-1 D) x2+4x+1
The quadratic polynomial, the sum and product of whose zeroes are 4 and 1, is :
A) x%-4x-1 B) x°-4x+1
(C) x%+4x-1 (D) x2+4x+1
19. fFeH (A) : [ (0, 5) y-318 W Rerd R 1

PR (R) : y-318 W fopel o &g &1 x-Fdenias g0 & B

(A) AR (A) O FRT (R) A1 T8 & R &R (R), SNHAE (A) H T AW Hea
2l

(B) IRm@wEE (A) R R (R) A1 T8 &, AfT BRT (R), ST¥HAT (A) Bl TE AR Tl
2l

(C) TR (A) T2 B, AfFT &1 (R) T 2l

(D) SARFYT (A) T &, Al BROT (R) TEl 2
1103/(Set : B)
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Assertion (A) : The point (0, 5) lies on y-axis.
Reason (R) : The x-coordinate on the point on y-axis is zero.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (4).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is the correct
explanation of Assertion (4).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

20. JFREHI (A) : /3 Th TURAG TE H AT 2l 1
PR (R) : G S U1l & 19l STURAT G Bl &l

(A) ST (A) oI B (R) a1 @&l & iR #RY (R), I (A) @l T8 e &y
2l

(B) IRtwEM (A) R RO (R) A1 & &, AfbT BRT (R), ST¥HAT (A) Bl TE AR Tl
2l

(C) SR (A) T2 B, AfFT &1 (R) T 2l
(D) If¥wee (A) T B, AT HROT (R) Tl 2

Assertion (A) : J3 isan example of irrational number.

Reason (R) : The square roots of all positive integers are irrational numbers.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is the correct
explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.
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qe - g
SECTION - B
21, HRGATNITS &% 45 cm & 3 W, Id W W@ $H T 4 cm o1 I Bl
PBroar Sd i) 2

The length of a tangent from a point A at distance 5 cm from the centre of circle

is 4 cm. Find the radius of circle.

22. MHRIT #1799 T HINC ¢ 2

2tan? 45° + cos? 30° — sin® 60°
Evaluate the following :

2 tan2 45° + 0032 30° - sin2 60°

23. B 4 cm @ T& 990 B BOUETE 1 SAEA S BT, RTEE BT 30° B 2
Find the area of the sector of a circle with radius 4 cm and of angle 30°.
AYAT
OR
T g & g H AFw S Hior, Rree aRfy 22§ &

Find the area of a quadrant of a circle, whose circumference is 22 cm.

24, =R s TiEsel & 9 & 5 2
2x+3y =13
Sx—-4y=-2
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Solve the following pair of linear equations :
2x+3y =13

Sx—-4y=-2

25. Tl W TF AR FHeEiel Tl 2| okl & 0F &g §, N AR & 0% &g § 15 m R E,
HMR & RrEw & 3+ A9 60° Bl HMR @t Sar 7 S 2

A tower stands vertically on the ground. From a point on the ground which is
15 m away from the foot of the tower, the angle of elevation of the top of the

tower is found to be 60°. Find the height of the tower.

e
OR
PS _PT B
AR 7 S0 TR 8 T £PST = ZPRQE| & #IT % APOR ©& digaTg By B
p
S T
Q R
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In the fig. % = 1;—}7; and ZPST = ZPRQ. Prove that APQR is an isosceles triangle.
P
S T
Q R
gug -7
SECTION-C

26. g FC % & dh=g gal § 99 g9 H SEr S B g B W B 5, W g W
i B R 3

Prove that in two concentric circles the chord of the larger circle, which touches

the smaller circle, is bisected at the point of contact.

27. fEO g 6x% -3-7x B YIH F A FOW IR YR T TUH F G G A
gie i) 3

Find the zeroes of quadratic polynomial 6x> -3-7x and verify the relationship

between the zeroes and coefficients.
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28. g FHIT : 3

1/% =secA+tanA
1-sinA

Prove that :

JM =secA+tanA
1-sinA

AYAT
OR
s #iferT
sec A(1 —sin A) (sec A+tan A) =1
Prove that :

sec A(1 —sin A) (sec A+ tan A) =1

29. UF U % Th X el Sl 81 Frfiied &l W R bl Siehal S i - 3
(i) T AT FEA
(i) 29 63 9= Ruq Hig de&n
(i) TH faww wEm
A die is thrown once, find the probability of getting :
(i) a prime number

(i) a number lying between 2 and 6

(iii) an odd number
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31.

32.
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R @It /5 % ulAg d@er B 3

Prove that \/g is irrational number.

& AR & A B AR 9 ¢ 7 & AR I Tl B AU 4 : 3 Bl AR T AR W
TEM 2,000 B9FT F=1 AT &, AN SH! AGH A FG Do 3
The ratio of incomes of two persons is 9 : 7 and the ratio of their expenditure is
4 : 3. If each of them manage to save Rs. 2,000 per month. Find their monthly
income.

AYAT

OR
& HRE BN H T HOT BIC HIOT F 18° AR 81 Ie A BT
The larger of two supplementary angles exceeds the smaller by 18 degrees. Find

them.

e - g
SECTION - D

90 cm H TR I UH TASHl 9o T Th @ B YR F W 1.2 m/s P 9 F I &
B AR T 9 ¥ 3.6 m B HAE W T, @A 4 JPTT & I qSH B SR H TG A
I 5

A girl of height 90 cm is walking away from the base of a lamp post at the speed
of 1.2 m/s. If the lamp is 3.6 m above the ground. Find the length of her shadow

after 4 second.
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33. il [ 9 (shed) § TH AT TR 81 I8 AT Th &9 B MHR H & G W TFH od-

I TN Bl IR 39 A€ @ MR & T 7 m x 15 m B, A SR 91T &l SR
8 m g, Tl 98 § FHENRC & T all gal & AFA A S| g IR 79 o 6 S A

@l 99 300 m® W A ® @R AT B orR 20 o ¥ REE 4 u@% 0.08 mS B
o & M R 3, aw s F e g a7 <n:%aﬂﬁm) 5

15m

Shanta runs an industry in a shed which is in the shape of a cuboid
surmounted by a half cylinder. If the base of the shed is of dimension 7 m X 15 m
and the height of the cuboidal portion is 8 m. Find the volume of air that shed

can hold. Further suppose the machinery in the shed occupies a total space of
300 m?> and there are 20 workers, each of whom occupy about 0.08 m3 space

on an average. Then how much air is in the shed ? (Take = %)

15m
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OR
SPIT # TN A1 H@e & fY ST 8 a1 & &f ordl o Mt a1 21 3699 d &

T 8 3EU I 51§69 &A% H YR 5 cm BR A FFAR a1 TF 69 & AR HUY A
g TS & A 4.2 cm 51 3H A6 B GO TOMH SFAEA S BT (n:% ofifom)

4.2 cm

5 cm

S5 cm

The decorative block shown in fig. is made of two solids — a cube and a
hemisphere. The base of the block is a cube with edge 5 cm and the hemisphere

fixed on the top has a diameter of 4.2 cm. Find the total surface area of the

block. (Take T = %) 4.2 cm

S cm

5cm
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34. HaRad SRERAr se fFE Aiec) & 68 IUNS Hi [Sowcll P HAIGE Gud aiar 81 39

HiHSl & T Tgee o T 5
iR @ (A &) |Sudemelt @ wen
65-85 4
85-105 5
105-125 13
125-145 20
145-165 14
165-185 8
185-205 4

The following frequency distribution gives the monthly consumption of electricity
of 68 consumers of a locality. Find the mode of data :

Monthly Consumption | No. of Consumers
(in Units)

65-85 4

85-105 5
105-125 13
125-145 20
145-165 14
165-185 8
185-205 4
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35. & HARM A QUi S Hio, [ a1 &1 A7 365 2 5

Find two consecutive positive integer, sum of whose squares is 365.
AT

OR

HﬁW3x2—2x+%=o 1 iR 7@ BT R B T @ e AR a3
qrEA® §, A I S Hier|

Find the discriminant of the equation 3x2—2x+%:0 and hence find the

nature of its roots. Find them, if they are real.

gug - ¢

SECTION - E

36. T% QEEd 3 WRET ITBIX THARUIE (RWA) 7 Th Q@R & T § 99 Qo & @9
A, B 3R C @MU 3 dF @9l & e, T & §9 e § ol ff v ¥ gafm RWA
T% MR fSoiel &1 91 D & & Bael R
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[
[=]

= N W Hd N e O

O 1 2 3 4 5 6 7 8 9 10

JUFT SNSRI % AER 91 Hfaiad 999 & SOX 8 ¢

() @H CH Rafq s i@ 1
(i) 9% & BN OF T B H gl F1d HifoT 1
(i) (2) AT @ D H Rl @ HTG, qMfd 9 &g A, B, C AR D Th T agyst a1

ol orEET(b) T A SR C & 9= & g § Fiv 2

Resident Welfare Association (RWA) of a society put up three electric poles A, B
and C in a society's park. Despite these three poles, some part of the park are

still in dark, so RWA decides to have one more electric pole D in the park.
N

[y
[=]

= N W AN ® 0

0O 1 2 3 4 5 6 7 8 9 10

1103/(Set : B) P.T.O.



37.

(22) 1103/(Set : B)

Based on the above information, answer the following questions :
(i) Find the position of the pole C.
(ii) Find the distance of the pole B from corner O of the park.

(iii) (a) Find the position of the fourth pole D so that four points A, B, C and D

form a parallelogram. or (b) Find the distance between poles A and C.

USh 3 aFl AR TS TN SHAR $ & GHl W A AT T I & 9% W I8 919 Uh
fig & @ & i & I AT FAM 60° X 30° B To& GH & Ham 20 H B
U] IHEN & MR ¥ Hfeiad UeH & Sa¥ Qi ¢

A & P A N T § dR-dR

g @ =t

S A

/ 7/

z a

QOmé é

" /

/ 60° 30° g

¥

P O R
(i) PO @ R G P 1
(i) RO % & G P 1
(i) (o) TSH B AR AT PO AT (b) A T PQ FRT SHEAT TN I=FT HIT 45° &,
@ PO & a8 ST i) 2
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Two hoardings are put on two poles of equal heights standing on either side of
the road. From a point between them on the road the angle of elevation of the
top of poles are 60° and 30° respectively. Height of each of pole is 20 m. Basis of

above information, answer the following questions :

Keep your city There is School
clean ahead let's go slowly
7 /B
N\ /
, /
/ ]
/ ]
/ ]
5 ’
20 m ¢ 7
=~‘ z
/ ]
5 ’
/ 60° 30° /
P [ MR
@)

(i) Find the length of PO.
(ii)) Find the length of RO.

(iii) (a) Find the width of the road. or (b) If the angle of elevation made by PQ is
45°, then find the length of PO.

dodto Tet @ T R a¥ ¥ 600 Hodio qar 7d 9§ H 700 &o dto TS H IEET B
Bl F8 A 8T o 99 S  uh guN w9 & Fived d@en § gis gl 8, i i

(i) v Ay § Seed 1
(i) 103 99 # IARA 1
(ii) (a) 5o 7 991 § ol IAEH T (b) 10 a9 H fH Iedred 2
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A manufacturer of TV sets produced 600 sets in third year and 700 sets in

seventh years. Assuming that the production increase uniformly by a fixed

number every year, find :
(i) the production in the 1st year
(ii)) the production in 10th year

(iii) (a) the total production in first 7 years or (b) total production in 10 years

1103/(Set : B)



